SN HPsEB
ZH: -5g 7
o9 HEs ZX ¥ U-5Y I8 25 (el &2
SH-EH . C(BH) - NRAY - BES 0 AF oA %ggig HRS2
Hese g 6,904,161 6,727,187 176,974
2 1,581,040
= 5,323, 121
B2 6,401,461 6,228,107 173,354
2 1,581,040
= 4,820,421
25 23 U U-BY JlY 75 4,745,081 4,089,665 655,416
2 1,581,040
= 3,164,041
HBSAR LS 1,252,400 1,253,800 A1,400
201 Yer2 Yyl 1,239,400 1,241,400 A2,000
01 AR 2IYl 48,000 50,000 A2,000
O 32 20T 2% 25,000
OFSHSE IR 5,000
OBBSHZY RA2L 10,000
OSEHANRY UTE 8,000
02 IT2YH| 1,191,400 1,191,400 0
0ZZ23 2 Al 1,191,400
202 01t 10,000 10,000 0
01 2Uioibl 10,000 10,000 0
OBBAYET 10,000
203 HRFY| 3,000 2,400 600
03 AlMEZAR=TY| 3,000 2,400 600
OE-EENWER-T-E 3,000
2SSz 57,000 80,000 £23,000
201 Yer2 Yyl 5,000 0 5,000
01 AR eIl 5,000 0 5,000
OZLY Zesis YH N 5,000
303 ZA3 2,000 0 2,000
01 Z&3 2,000 0 2,000
OZSAVLHSAZ VNS 24228 T4 2,000
307 BI2HOI 50,000 30,000 20,000
04 DIFSAEE 50,000 30,000 20,000
CI=RIEEL I E Y 50,000
HHYBANAY TS 1,190,052 1,472,805 £282,753
= 831,647
= 358,405
403 KX EHHIS XH2 0l 910,052 905,805 4,247
2 831,647
= 78,405
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e =L == N
o 5P
ool BEs ZX Y U-BY Olg 7S (25 &2
_ _ _ Muo
SN HE - SR(SH) - MBAY - B S 0l & 24 0l ot o HlnE2
01 MXSHRZ2E 831,647 827,400 4,247
O N2THESHBEIIBAY 831,647
= 831,647
02 BJI2-S 0 CHEHCHE AFES bl 78,405 78,405 0
O NEHZSRAAH(R) RAB4 78,405
405 THAHE S 280,000 0 280,000
01 HAUSEH S| 280,000 0 280,000
O2-LI2tAIAE DBAH 280,000
S0ESAAHESH 2SN & 244,000 199,000 45,000
308 XHXIEHH SOl H 204,000 144,000 60,000
01 RXESHBARES 204,000 144,000 60,000
00 HBDS(BALY S) 144,000
OXHOISHE IPVERY 2IX 60,000
403 MXSHSKZ0IH 40,000 0 40,000
01 MXSHRZ2E 40,000 0 40,000
OXOLSHE IPTVERY e 40,000
NEETESS 419,875 439,060 £19,185
= 257,400
= 162,475
207 o1t 14,000 0 14,000
02 F ANyl 14,000 0 14,000
OSZYE DI HAZEY 75 14,000
308 XHXIEHH SOl H 405,875 401,760 4,115
= 257,400
= 148,475
01 RXESHBARES 402,060 401,760 300
OZPa0IE ZRIBBAN S4 257,400
= 257,400
OFR30I2 TRIO22IK SH(F) 83, 160
OZBAAA X2 61,500
05 RXISHALES 3,815 0 3,815
OBBSUABANLY SHRNB4 PL2
545, 0002 +78 3,815
HRBOAAY 25 L 2Y 915,000 645,000 270,000
207 HRIHLHI 55,000 55,000 0
02 & AN Y] 55,000 55,000 0
O EE Al S/W R0 (MHE, PCS) 55,000
405 THAHE S 860,000 590,000 270,000
01 HAUSEH S| 860,000 590,000 270,000
OAOIHEHHSAIAE & DdosHSHH 2= 800,000
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SN BRaggn
B -5L7H
Sl ZEE A1 U -8 J|% 7S (B9 @)
SN B SR(BH) - NRAY - BLS Ofl - o8 e HRS2
OS2 QHUSBAIAE = 60,000
2 Ao A 666,754 0 666,754
= 491,993
= 174,761
201 Ler=gl 192,244 0 192,244
= 98,037
= 94,207
01 AtR2teldl 3,830 0 3,830
OFBAM HAMY 23 29 3,830
= 3,830
02 323l 188,414 0 188,414
O&1PC Ex&L 188,414
= 94,207
< 94,207
202 044 8,366 0 8,366
= 4,183
= 4,183
01 2O 8,366 0 8,366
OFBAM HaAY £ 8,366
= 4,183
s 4,183
301 EtE NS 295,867 0 295,867
= 219,496
< 76,371
01 At2l2&8 XM +d=s 152,742 0 152,742
OBESHUEXID B 152,742
= 76,371
= 76,371
12 JIet2d =3 143,125 0 143,125
OZEsus ZME 143,125
= 143,125
307 2ztold 170,277 0 170,277
= 170,277
02 2I2tHHE X 170,277 0 170,277
O dusd X2 135,000
= 135,000
odzd u=sgd N 10,500
= 10,500
OUEUSSHAUE 2% K& 24,777
= 24,777
JETFAAE SR 2l & =3 1,656,380 2,138,442 A482,062
FEANAE R E 1,236,380 1,462,442 N226,062
201 Ler=gl 1,236,380 1,462,442 N226,062
02 323l 1,236,380 1,131,242 105,138
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HEstgdatal
T
BONRAAY STl Y BE S REE
I:I}\_I X xH C|-O|(§Ij:”) }\.“CIAI,O'I HAXZ OH XI_-ILIE—“:— =2}
- o= T ° e = = = - 04”:"% =<
(OINE=F-1:=1E=IN}:]| 1,236,380
“HEENAAAE SEFAEH
84,000,000& *123] 1,008,000
oAl HAZIQAIAE RIS
3,600,000 *128| 43,200
-Al2l WED| fFXE2+ 1,750,000 «128] 21,000
-2UHRED| RAES 2,083,300 *123] 25,000
-HPSAAIE G 5,000, 000& *53] 25,000
-HE . Ju SEHE S KA
5,720,000 *123] 68,640
-OIEASAIE RAE=+ 255,000& x123] 3,060
-HEHERIY Eaz 2,070,000& *23| 4,140
~HAD|HA MOIEH SAES
4,410,000& »23| 8,820
-a2asl R 3,960, 000& *23| 7,920
—0l &S HAIAE AFEZ 6,600
—~HERKIIAANE KXY 1,500,000& =103 15,000
N BEFEHLAEs/wH 405,000 396,000 9,000
207 A0l 105,000 90,000 15,000
02 & &Nl 105,000 90,000 15,000
Og2E S/WMSLLIAS 105) 25,000
OXXZIAMAE 2AHEED 80,000
405 KH&HFSHI 300,000 300,000 0
01 AHaL 2B FHSHI 300,000 300,000 0
OL=ZFH WA 300,000
FESAAILEH 2 15,000 80,000 A 65,000
405 KtatF S| 15,000 80,000 A65,000
01 A& ESSHSHI 15,000 80,000 A65,000
OUXEHds)| & EE2S4EE 7Y 15,000
HE2IZH (FEs g2 502,700 499,080 3,620
Jl23dl 497,900 494,400 3,500
Jl=23tl 497,900 494,400 3,500
201 LBt H| 427,900 427,900 0
01 AtR2t2ldl 64,600 64,600 0
OEESHE R =2 64,600
02 =234l 363,300 363,300 0
OFESHERFA 363,300
202 044l 70,000 66,500 3,500
01 =LHA b 70,000 66,500 3,500
OFEHRFA 70,000
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